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Que. No. 001-300 [1-100 ARR General Studies + 101-300 ARP Concern Subject]
Publish Date 09-02-2021

Last Date to Send Suggestion (S) 17-02 -2021

Instructions / ¥Yeil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.
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001.

002.

003.

004.

00s.

006.

007.

IR AFUML 5591 5L AS WAl AR WU & ?

@0 (B) (U212
(C) a3 (D) Y

A2 AL su1 SR A AAL GURAM] 20dA €9 ?

1. Guasl2eidlu agl Fadl

2. Gwa s[20iHly wirwz ol

3. uddlu oAl

4. Ay Fadl

(A)1,2 243 (B) 1,2 21 4
(C) 1,314 @2 324

1. MIRd-L 2iE10d &R (A1 32.87 ar Al (3.4l 8. glruu sa [ U 2.42% MRaAx
(2R 8.

2. *Rd gRumi (ARl g¥l2 Aaui s34 8 x4 gRadl ga auldu anso 16% 4l awR auld
MURAML R 6.

(A) 1 L5 Uiy 8, (B) 2 s AL €9,
@1 >t 2 s wiou 8. (D) 1 24 2 AusUl 4ioy .
uttdl u2- G 51261 LNl 52l uvui € ?
[ EENR)) (B) AR (4)
(C) Wi (5) (D) & (6)
A 2011 U AU ool FURAHT Al N2adl suracsanl Aell 21 €9 217 su1 Aol Al auR © ?
(A) HloAiH 21 ulZn oionn @13uaa uea 2 Ber
(C) HellyR A HYRG (D) HEAQ A 524l
a1y 21 A6ild AU 1oy dd 2Uisal.

414 (Fall) A% (State)
1. dweusi-i (Talakona) a. RAFAL
2. dl¥aR (Tirthgarh) b. [Rwadusa
3. tigdl (Bundla) c. 9Tl
4. 3dla (Chulia) d. % vz
(A)1-a,2-d, 3-¢c, 4-b (B)1-b, 2-a, 3-d, 4-¢
@:-a2-¢,3-p,4-2 D)1-c, 2-b, 3-a, 4-d
ARl A€l 2 dril BUR sl 2udd 6t (Dam) A U1y 3d disdl.
1. Bwu a. dsdl
2. Hglirel b. MIMRL A
3. Adaw c. [Bags
4. cuolldl d. UOU%HA AR
(A)1-a,2-d, 3-¢c, 4-b (B)1-b, 2-a, 3-d, 4-¢
(C)1-¢, 2-b, 3-a, 4-d @:-a2-¢,3-p,4-2
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008.  GURAr [Becnutl 2 d-l A% uoitld A2t WA 56 A ulou Al ?
(A) dlnis21e (Chittorgarh Fort) — A% (B) 2UAd 5131 512 (Golkonda) — A2l
@ 12104 512 (Warangal Fort) — arlla-ig (D) sio11 51 (Kangra Fort) — [RWiaa uga
009.  ARUdrll bigl v el AN UL 56 A Uloy el ?
(A) A2 — GUATRR (B) £8% — M3
(C) 8931 — Y3d @ — 224
010. Q=4 2arl AR 5O ALl2Al wlou €9 ?
1. BAIR SQL AMUIRRY, — GI-UASISL
2. Rcdrl HSLA AMUIRRY, — ELSIE
3. YRl AR AMARRA — 30
4. AHURA AMARRY — Y4
(A) 1,2 ¢ 4 (B) 1, 2,3 - 4
(C)1,3 x4 @223
011. Sl HAS (air port) A AU U1 d Alsl.
1. [Qauvuugau S-2raqd 2uid (Visakhapatnam) a. s-les
2. dIR WA Sr2uM4 2ui b. igrun HAlsion:
3. Sioidld 21uié (Dabolim) c. uid ued
4. sxdlotast Sr2AuAd AUl (Kempegowda) d. oual
@:-c2-p,3-d4-2 (B)1-b, 2-d, 3-a, 4-¢
(C)1-d, 2-a, 3-¢, 4-b (D)1-a,2-¢, 3-b, 4-d
012. O AU £RUA HER Gli4sIH (Temple Architecture)ll HuAcd 5241 d6is5L Sell?
(A) 9 (Six) @i~ (Five)
(C) AR (Four) (D) A%l (Three)
013. AU 55 Al wlou 9 ?
(A) [asusllen yRafhid — Gur usa (B) [81g3 3a11 — [SHI1u4 UL
(C) Gedll<l 951 — ugRIZ @) ad opg 2qu — Ais e
014.  HElS1M (Pottery) A d-il BE™a A U1y Jd 2Uisal.
1. w29 (Khurja Pottery) a. ulw ooun
2. 6ds (Black Pottery) b. wUYR
3. o4 (Blue Pottery) . WIS, YUl
4. 2\1_3%3 (Surai Pottery) d. 20
@:-a2-¢,3-p,4-2 (B)1-¢, 2-b, 3-a, 4-d
(C)1-b, 2-a, 3-d, 4-¢ (D)1-a,2-d, 3-¢c, 4-b
ARR-MASTER | 2 [ Contd.
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015.

016.

017.

018.

019.

020.

021.

D2 WAL 51l uHde (UNESCO) yllsl 84129 a2 “Heritage site” Hi 21 €9 ?

Luarll st 2. Salu-ll 951
(A)1,2 213

(C)2,3 211 4

Auisglzil 2m duii-u Gu-imq 2usal.
1. wolleisR el Mg

2. YRR dvdlRsw 2idla

3. Bdladeiny. ger

4. AR (A, wes

(A)1-d, 2-a,3-b, 4-c
(C)1-b, 2-a, 3-¢, 4-d

3. ddls-ai-l 951

4. AHELAUE AR
(B) 1, 2 ¥ 4
@2 324

a. sal

b. (838

c. Sl

d. YeM
@1-c2-23-4 4-p
M)1-d,2-a,3-¢c,4-b

dorctril $[A2A 2 Al 221 UL 56 oA dl uloy el ?

(A) M5 — 1R wéal

@ 200 udlan - siouadl

el Arist 2 AU UL 56 A2l
1. USSR 5408 ALl — ANd HeHd
2. »dUe Hawll — eigaua

3. osidl 8. £d — AlULIRL

4. u~uaa ued — ouoy (Aol
(A)1,2,3 214

(C) 1,321 4

(B) 2Aldsun — {81252 1% Mg
(D) U2 — GHIisR Borend oAl

uLoY €9 ?

(B) 1, 2 ¥ 4

@223

HIRAL A (L Quisl 21 dai-l il Al W4 569 Al wioy el ?

(A) H¢&5 ¥ 2Urie (Mulk Raj Anand) — Coolie

(B) 2UR. 5. Rl (RK Narayan) — Malgudi Days

(C) 2l g (Anita Desai) — In Custody

.ﬂ%l‘id Al (Khushwant Singh) — A Ghost Story
QR Wl Al YRSt 2 d-iL Quisi-l g dlil Ul 56 Adlal ulon € ?

1. HSIURA —dg QA
2. AdA — U
3. HSIGIWL — BN
4. §HR AMa — silasin
(A) 1,221 4

@1 214

-

URATL JHIRSL 24 ™A0UA 4Ry Jd dusal.

1. 2nRe-l (Beal

2. opeeR HleR

3. saAludy

4. SR
(A)1-2a,2-b,3-¢,4-d
(C)1-b,2-¢,3-d,4-a

(B) 1,2 % 3
(D) 1,2,3 21 4

arflea-ig

AU

dl [2ed)

d. Gurueaw
@1-4.2-23-p,4-¢
D)1-¢,2-d,3-2,4-b

s ®

e
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022.

023.

024.

025.

026.

027.

028.

RURAHL Girtell A2 21 Al Hou Gewert Svs-ll A dl2al WS Al ulou 4l ?

(A) Hou Ales dl (Muga Silk) — U4 (B) @s1uL A18) (Leheriya Saree) — A1
(C) Usnll A1él (Paithani Saree) — L MELA .d*cl ALdl (Taant Saree) — W&y U2
A U a1 vSLgeual R © ?

Laeadladl 2. dlgug 2ol 3.:A05R 4. A6 uddl

(A) 1,213 @124
(©) 1,324 (D) 2,3 ¢ 4
A qusal Asil

1. A%t AL WASIAHT HAAMA HIRA 1A 2 AR Ag9t-l WA AL, AN UdRL,
Quiz-aul@iesy ) suoidl asldd) 6.

2. Al 58, Yutr-idr A Sleor You naRflall gdi, duia tllg 4d, Ar2 sHak-, -Idel
[Qrldenau adikd aeld s34 8.

(A) 1 L5 Uiy 8, (B) 2 cdlsu AL €9,

@1 211 2 L awsu alou B, (D) 1 241 2 61 sy 41y Al

I ctrll AL 2R drl 220 {01l A4l WS 56 AL ulow el ?

(A) Yo 3R — {22 (el Hdun) @20 g — gudl (direieR)
(C) 3sus1au — gy (D) Sl AlRRL — a2

g3l 212 AL A a0+l ALl WAL 56 AL Aloy «agl) ?
(A) AR 4, Al AR 6119 HIR1AL — HIS %A €3l

(B) [Al2r2 us12-1 2oL 51611 — 3w

(C) ditu-il [Aya el — siefloion

@3 viai A 5M Al [s — doudlRe

-\

Guluga oeudd giellAs [l uggel- 2in d-it 2RI Qioy fd 2lisal.

Alk] 2l
1. vy a. sl PR
2. Y b. usl s
3. A9l c. UM Aan
4. yddluia d. Hsl soue
@:-v2-¢,3-d,4-2 B)1-¢, 2-d, 3-a, 4-b
(C)1-d, 2-a, 3-b, 4-¢ D)1-a, 2-b, 3-¢, 4-d

16 {12 UEL USL HSIUE T UH L -l w2l wHH) A WAL 56 A dlAdlo uiou & ?
Ly—dw (Alad) 2. sdl-BlRaxRae 3. s1aa—[MRQ 4. e — 1y
@1 (B) {1 241 2

(C)HA 1,2 %3 (D) 1,2,3 21 4
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029.

030.

031.

032.

033.

034.

03s.

A=A sl Al :

1. Segladdl yoAl 3 Al Graalisidl ¢dl. dellzi edlos oouil st 2410 L 2w o1l
Adl-iL dlsin AlHgls 2uua.

2. QUYELA 61661l E6URHL AHIR BRI 2 PRIR SuA Bl ARSI 8.

3. VAL WA A Uldi-u [Qoai-i 518 elldl 6, d-i U212 Udid 3gead sAdl “sidl4R” €
HNAA Sell.

(A) 1211 2 cusdl uidy 69, (B) 1 24 3 sl 4ioy 89,
(C) 2 4 3 AusUl 4oy 6. @1, 2 2113 awsui wiou 8.

HUA YOI WRASIA AL AU SRR AHUU SHIZAR Ollsdl.

(A) tuoR, we1RllR, 25612, WLl (B) sll2, i, iR, 25612
@102, w10, ws1oll2, wesi (D) 215012, tut1R, ¥s1oll?, Wi

RAYYe S101 ERAUA, QUM 2UAE AR 2t drl U1+ A2 WA 58 Al uiou Al ?
(A) Aga AL vt 5[y — [Qigua as (B) slasll ey —Auy ARq

(C) SHAs1 — g H Ast AU @51 — ya aa

Hey Yol doral Aeeini HlA-1 UL sy aisy qlou -8l ?

(A) S.. 746 2l 1306 1L 560 il A1l AHU OUVUHL AYAUAAHL AL, ALEE 2 wden da-il wasiA
A 534 8.

(B) ell Geunla si-ide “ell-l awa” e-uda gdl.
(C) A%HLAL HlHagdl-i s8auefl LNl HA dAva A [RUIUHHT YU dvid tiUHi 2l Sdl.
@064 opudAni “wre na HIn” AU At MDA Sl

1. ¥4, 2 gt ua el 188541 (€2l 0l el 22usl s 2044 Sl 247 AHARIG Gl
w88 o1e d uAH wRAA WA ¢,

2. AUIRRL AANASL YU dil (1) e ell Hadl duiR s2al (2) [Agell Hianl eildssiR s2dl (3) Al
BIETCE)

GURAs cAusUL ASIAL.

(A) 1 cUSA A 2 sy ALY 89, (B) 1 A5 A4 2 LS, bl sl 4ioy Al
(C) WA 2 sy ALY 6. @0 1 s uou 8.

A0 U4 s HeLgeual sl-adlRl A gdi ?

(A) WYL Lodd $35 2 dIR AARSR @131 G 2 vilBnzs agiuna
(C) YElAH 6l A AHUALE [RAa (D) 1515 Gecrut 2 AsAvR

1. [8€ 2adA4131 1949 Yortr Ml A8 244 WZe Aad o s U Sl A4 Uldlg, tiReL
agadl {ogdl >uua edl.

2. MIRArL 562 220 %Al WA 559 AU, M1 A1 A stac AsHA 2uda 8dl. 20 Heir s 2 AeER
QML U2aril Nuetefl SR A4 g,

3. UG ALSHAR S1R8L, EAGUE A5 UAALA 5128 A2l SUTHR WS GHAL 5181 IR A1 AIAA Sl
(A) 1211 3 cusul uidy 69, (B) 2 VA 3 ALsAl AioY 89,
(C) 114 2 cusl ulou 8. @1, 2 2113 sl w8,
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036.

037.

038.

039.

040.

041.

Y =\ =\

oprilell 24 4eild dluiiA wiey A4 dusal.

1. 30 oyl 1948 a. WUAH 2R ol (42512 (Automic Bomb)
2. 26 Ayl 1950 b. il s

3. 153 e ay c. GIYIRBIAL AHA

4. 6% 1945 d. adadl 2+

(A)1-¢, 2-d, 3-a, 4-b @1-v,2-¢,3-d4-a

(C)1-d, 2-a, 3-b, 4-c¢ (D)1-a, 2-b, 3-¢, 4-d

1. 244 61oAd] AALAd 8 dl gl [BHA B2, HidHL ARl a8, Hidld [AdrRi-d siuq azg -l BHd-n
525131 U2 2naRa 8.

2. 20 R611 yaALad 8 dl agll [BHd adIRl Adl Yasimi ARl A1 8 2R azgrll (Bud s2dl yast
82 €9, 2UH Azl (Bud i Yael a3 8- Aeiy 8.

GURTL cLsUL ASIAL.

(A) 1 L5 Y 8, (B) 2 cusy ALy 89,

(C) 1 27 2 cusll, 6 Loy ). @1 >t 2 s, e uou .
L ERTRER | ERHETIE DETRVE RYETE RS

1. ‘;I.\'Q[ SEIETE) (Perfect Competition)

2. SRl (Monopoly)

3. S Y5l 831518 (Monopolistic)

4. ¥eu s SRl (Oligopoly)

(A)1,2 243 (B) 1,3 211 4

@:.2 324 (D) 2,34

3~ A-uA (Residence Census) 2011 {61 MIRel 247 AR, AFUH, A Aell-Ul WHRAME A5 ¢
W@t (Child population - 0 to 6 years) $2&L 251 (%) € ?

@362 129 (B) 12.9 ¥4 13.6

(C) 16.1 241 16.3 (D) 9.9 211 14.3

Ao s s Sl (RBI) 1 “oisy 615" 58 8 5128 5.

(A) b=l Wil aqiRi-l 2uel RBI 1 45 €.

(B) 6isinl %32 Sl 2 RBI dii- (8w 2uy 8.

(C) waul3u suosidl {2 RBI 6514 AAs YAt 20U 6.

@ Gurisa eiflos oueidl awyul 8.

wélflged Hie (Participatory notes P-notes) A=A Y4 il g As0nAa 9 ?
(A) MIRd wsoAld ¢3iN (Consolidated fund of India)

.3\@'1 %S*%él&%%ldél ASASRU (Foreign Institutional Investors)

© g"ll%Sés A2y SaduH2 WA (United Nations Development Programme)
(D) sui2l wizisia (Kyoto Protocol)

ARR - MASTER | 6 [ Contd.
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042.

043.

044.

045.

046.

047.

048.

049.

MR FUIR 6192 (Budget) Al HogR A Asg el R :
(A) A%BAAHL {2 242 AIER SAUHL 204 6.

(B) %33 YHIRA - AR 53 Yrt: HoPR SAHE 214 €9,

(C) 5% A1+ WuHAAl AUy, 20 €.

@2 2w st na, nen Hsng AuY 200 6.

3 2415 §59 ollyiA (Ease of Doing Business) 3 % A¢S 615 gIA AR $AUML 214 & dHI UAH 214
i AUS (63)H 2 suL e 8 ?

@21 NE - w1 furd (B) AU 241 HuRd

(C) 311 i WBEL A6t (D) 33 2 sicolla

naH Y2 auH) Al 27 oflen d aui-l ale-uil Al AR Hee 56 oot 200A 8d, ?
(A) aAeidL 2t 2uusi-l [@s

@ ol (s 21 ey wann 2ieiells AisHiq s

(C) 23, 2elstyAlsaq i s &l Qs

(D) Aedl g2ral x4 Rl

(Rt Aol M@i%[@lél (Export Preparedness Index) 2020 Y% (Major States - Group A - costal
states) MaH, 60lon 21 o 221 BUR GURA-L SUL AL E ?

(A) W8I, dilRa-ug, > (B) 2dlau, stiles, 3¢
@152, uereg, alhanug (D) s U2, 3AL, A%
Hia (A5 2405 2020 (Human Development Index 2020 HDI-2020) {5t

1. HDI ¥ -iid (Norway), 2l2:Ars (Switzerland) 1 2UAA~3 (Ireland) G754 Uad, ollog w1
Al 2204 69,

2. U AHSAUA AL MIRA 13941 22 6 AR 215Ul 1604 2217 €.

BURLSd AL ASLAL.

(A) 1211 2 61 LUl Q1Y 89, (B) 1 241 2 61 sl A1y -,

@ 1 s uiou 8. (D) HIAL 2 sy 41y 8,

JRAel AU 2020-20211 iU (BudgetyHi Aldl A s10198ll suL &AL s1QUHl 20d €9 ?
(A) G & @222, 24aomq, sa

(C) 2R Vi §2%01 58 (D) Genal [acuar

QIR A8 2UHBHE AN, AHE], BriugiRls” adl? avel, sulvitella Yl erma
A8l ?

(A) 4041 YRl (B) 4141 a2

@42+ yari (D) 4341 YHUIRL

“opait ARuHil Yyl Reucud Riaw iemi 51 usie aulis Riaa 2l as8 48l 2u s
RURAAL ol 56 saHul scumi 2udddl ¢ ?

(A) 27 @:s

(C) 29 (D) 30
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050.

051.

052.

053.

054.

055.

056.

057.

058.

AL 2uml 20AE S 551 AR S0 HIZHL 2ABS1RL, 5O sAuUL salaumi 2uda € ?
(A) 33 (B) 30

(C) 31 @::

AR oiteml Axa-lld- Holeas Rugidi-l sau 38ui 58 ouoiarll oias s34 6 ?

1. dls senadl glg e o afa-l wlys caqzal,

2. 438 2 A R 2ulFlasig yg waqt Anaal adn 2108802 ©.

@2 1 wsall Ao (B) Wiat 2 ausul oAdans

(C) 1 241 2 o1 s+l s (D) 1 244 2 61 ausui-l s el

“elsuMl 2 AU WE Q15 HAg1R HsolHil A y2eflell uie sAAQ AL 1 A8 A& ALY
WARB q2adl ude sAAA 1AL, gL AU 6. B A URAL iR 58 sauui salda s ?

(A) 80 .81
©) 82 (D) 83

“oiRarl Gurrguld Sigill 331 Asuusu-l aculd /A 21 A0S MRd-L sirRal 5§ sanu
galda e ?

&4 (B) 65

(C) 66 (D) 63
AU AzAUA- [Rugs sta s 8 ?

@ 20zulasl (B) Hi-l. Gu egulasl

(C) W asmtusil (D) HUrL. A% Hua-lsl

RRAL ilAaAHl sau 13141 56 ousia-l oS sami >uddl € ?

(A) GRAAH RUAIAY 35S RUAEY WA @) Gaan gl ya ssua

(C) GadH ~qud amn (D) GadH a1aa-{l a1l 244 4+

il dam 2ellal w2 Hagi Al dair sdl, Swvt wlgel 2«4 Rzl raieteidl sidl e ?
(A) Yzell 2nA1t @1 20 sfan

(C) s Y [Qeuoadl (D) usitld sase:4ll

alswd (Lok Pal) 1i 21818l Guid d2el ueul sin e ?

(A)6 B)7

@:s (D) 9

1. GURAUL -8 U2l (Finance Commission) -1l 24+l $@¥ 280 501 GURAL iRl s il
Yool sReUuMl 2ud 8.

Y

2. 1541 - 2uaiol Yed wia an 8 2 d-l siisin 1 2004 2020 ) 31 WA 2025 9.
3. UULHT HUA GURIA Ald URAUL LU 6.

(A) 1,2 211 3 cusall dlou 8. @1 1 2 s wiou .
(C) 1211 3 cusdl uidy 89, (D) 2 211 3 cusUL ULy 89,
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059.

060.

061.

062.

063.

064.

1. dan s dis Adl 2010 4.

2. AHIU Lld €35 AU s Al Al 2091 WA

3. U™ BUALIAL 28 2 1AL [AngLs W, eguld 52 69,

4. A8 AR WAL HIRAAL 2R $3 viid BrRAME 2ud €.

(A) 1,2 2 3 sl ALY €9, (B) 1, 2 i 4 LSl U1y 89,
(C) 1,3 27 4 cusdl 41U 8, @12, 3 21 4 sl w8,

[R5 A%l 21154851 (Export Preparedness Index 2020) 58 22l HAEU g1 GISIR UISAUHI
A 8 ?

(A) alBiery 21 Gelldl Hanay (Ministry of Commerce & Industry)
(B) -UeW {14 (Ministry of Finance)

@ \(a vuuio

(D) Aoxd 6i=s lis Sl

1. 5+l4 WS dl W (Central Information Commission)=ll 24+ dl. 12-10-20051 2% HUSAl-L x[8512
w[AuU 2005 S0 saMi vudd ©.

2. Rl 2182 scunidl Y5l oo sam 10 i calda ©.

GuRLsd WS suL ausal qiou €9,

[ JCTESENEUREY (B) 2 cllsy 019y 9,

(C) 1211 2 61 LUl ALY, 89, (D) 1 211 2 61 sl Q1Y AL,

1. QGURdAL s [R5 - we1dva uLlas 8491,

2. ddi-l [Aags e aguld 2 6.

3. GIRAHI A", AAUL 2L YARAALAL [ AU AL 2430 AL AR 5241 (80104l sl 514005 d2ii-L €.
(A) 1,2 2 3 sl ALY €9, (B) 1 24 3 sl 4ioy 89,

@1 >t 2 st wiou 8. (D) 2 A 3 AusUl 4oy .

D2 2uglani Nsieru salda a0l 159021 (Girls) 8, A4 ealdd A0EL MddlR (Sports Person)
& A ANHE sAldd Nast 9. 2 A2ANHL 59 Els2A UAR 8 ?

A
F

B {0 E

C
@s (B) D
OE D) C
AZ, CX, FU l A dlxil i AD, CDuI 56 %Al 2uqsl ?
(A) HS (B) GJ
@ (D) KP
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065.

066.

067.

068.

069.

070.

071.

2 seus 2 40 HlHl2-i aHu 2uon g3 [MlA2 si2l (Minute Hand) $2c »igy/viell 529 ?

(A) 840° @ oc0°
(C) 240° (D) 120°
16 16 16

9 | 18 | 25 4 |20 36 25 [(X)] 9

36 64 4
X Al (531 s2el gl ?
(A)20 (B) 18
@4 (D) 16
A Ad R x2—)2 €U, B, {1 =20 Sl A x +y =10 gld dl
(A) A HEL B Sl a4R 8. (B) Ad & B 5L 2ie9 8.
(C) A %A B, Y& uHIAL 6, @A 11 B e 154 sra i [Qoidl Yl -,

25 R 3L 2,6004 6L adlall wile 89, uan adlun Bur 20% 5L A0 8 i 6l adun dad
25% vil2 a8, ol Al dAdl dA uRull 54 1AL 8, 21 Al sl widlle [BHd el eal ?

@ 1.000 31 241 1,600 31 (B) 1,200 3. 247 1,400 31.
(C) 1,300 3. 2411 1,300 3. (D) 900 3L. 24 1,700 31.

15 AU 15 A AHAL qRAadL YUl 215 214 24 [Badui (a6, o 21 214 10 [Baul qiadl
dll S2e atRi-i qu-l 32 usel ?

(A) 36 @:1
(C)57 (D) 41
vl oot YRL.

49 ¥

57307 S

A il
A) 0 42
o oy 2
© 45 D) 53

215 5111l 2 oL A S1H HIG AU dl AZTH 3L 200 €3 AL ULl 221 AL, d usau-it [2au 5241 31. 50
ay, €3+l soraus saUMl 20dd 8. A s1HML 10 [Ba HI A dl 524 3L €3 MRl ugel ?

(A) 4950 @250
(C) 3600 (D) 2650
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072.

073.

074.

075.

076.

077.

078.

079.

080.

5 AlSd WAl Al Rssi 22 e Aigl [Rsst 69, o d- Al a4 10 Risst 2uuaimi 20d di
Al 27 Alel [Rssig we 1:2 2 6. 20 A2A0HE 1al Rsstoue sa s2al [Rsst lsd wa sal ?

(A) 60 (B) 80

@0 (D) 120

25 ol gauAuRL eellan- 1000 gt £31 6. o Gell 1 208l sAmi uvll AvuiHi gl Y-l
S1A dl a1 24 gl 3l 32 usal ?

(A) 14 (B) 16

@:- (D) 32

-

215 Yg HELH 1000 AlAsiA 30 [2aA A dedl vius ©. €2 [Bau eue 1000 A AAst zuasd) sud
vlis oL AlRsiA seal [Ban 4l ?

(A) 30 [Baxn (B) 40 [2ax
(C) 20 [Ban @10 Ban

onosl R sl d-il Rl G 9 (+18) el atu € 21 Wil GHR cuns-l GHR 5L 8 (2u6) Al
AR €9, oA el - Rrdl Gu-l a0l 68 A i di suns-l Gur sadl sal ?

@ (B) 5 ay
(C) 6 ad (D) 7

25 AUl wRRALA 50 €122 8 ugius 521 dons 13 W2 auiR ©. 21 AAUHE AU AAsN 524
eal ?

(A) 124 i Hl2R (B) 144 . H{l2r
@114 Qe (D) 104 &l Y122

280 H122 aiell 2udl 60 [(33l/scus-N »3udl % 8@ 2udl wnel 48 33/ scusN »3uddl 2uadl 320 Hle:
aioll oudl 2is olload Sear AHAHL YR 529 ?

@20 25 (B) 30 As~s
(C) 40 As~3 (D) 50 As+3

oI YAUSIL ARAUE-L 19121 Bu U 9 R HE qrjurdl 2L U 6. 1 quid, DA U4 56 ool e
87

1. @& - Dispersion 2. il — Refraction 3. uid[Rs uldlBier — Internal Reflection

(A) WAL 1 244 2 (B) H1AA 1 244 3

(C) WA 2 241 3 @1. 2 211 3 il cnordl

21% (Noise)d, UHIRL 212 100 3flo1ad (Decible) Sl R d 24 DAL UL i xSl e ?
(A) Iy Ad Aol as ddl awafla (B) Hi2dl adl cwafla

(C) ¢l3cuoll ael-i 2 @20\ 2iu (Machnine shop)- i Bl

axq [aoully arilaL (Domestic electrical wiring) $4L HETES RUL RSN

(A) AR s — Series Connection

@ 2aa s1is0- — Parallel Connection

(C) ALL» R RVEICIC) 3&&2[%@ (2191 — Combination of Series and parallel connections
(D) €35 3HHL AN 75 24 31 K8I1R YR4d ssan
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081.

082.

083.

084.

08s.

086.

087.

088.

089.

090.

N

AL AL s, A9 2idR HUA 25 2120 1UHs4 Yrll2 (One astronomical unit) -l GUULLL sAUHI
w4 €9 ?

@1 2 yed) (B) yedl 1A g

(C) A3 A (D) Y5 21 4

4 sefluz {12522 (Nuclear reactor) -l et stHul 1AL WS si-L Gualor i € ?

(A) $isue2 — Cobalt (B) -lls& — Nickel

.0\52:‘5\[['\1?4‘-{ — Zirconium (D) 2912 — Tungsten

Haa vidd 913 e dana ul$ (Mandla plant fossils national park) $4l A%4Hi 20d4 9 ?
(A) GR uen (B) £91llA2e

@ n2a (D) Rrad usa

QuRdH] A1 WA 56 Byl enlis & ?

1. -laalil @R — Nilgiri Langur

2. M3 Bsdl Brasiddl — Namdhapa flying squirrel

3. onddl 235 — Purple frog western ghats

(A) WA 1 244 2 (B) 1A 2 24 3

(C) ™A 1 24 3 @223

gl oaioie §-lellAdla 24T flosize: f1s W2 (The Global Initiative on Disaster Risk Management
(GIDRM)), -l udd su1 g2l s 8l ?

@i wrsR (B) 2l AR
(C) AL U212 (D) AU S AR

$rl25 AR G121 S1aui 8dL) 3¢d 22U (Haveri Railway Station) o -us tie el su1 2ad=t dlrd -uu
Jed R 2UA 9 ?

(A) 2124153\ 3¢d 21 (Arsikere Railway Station)

(B) ﬁx‘@@ 3¢d LU (Mysuru Railway Station)

.Hél@.qm{l ARl 3¢d 21 (Mahadevappa Mailara Railway Station)
(D) t1-1R™ ¢ 29 (Banaras Railway Station)

2020 -l il UAl8)s Ssi-ils si-20u3n (Asia - Pacific Economic Co-operation 2020) W2 sul
29 u%HIr (8122 - Host) 8dl ?

(A) Ssitallan @ a0

(C) MIRd (D) dwd

Dl WAL s 21012 s (Tiger Reserve) TX-2 (El-is 2) Srenand vais wia 8 ?
(A) si6{2 21491 {nd (Corbeet) (B) tiigly2 21uaR {»d (Bandipur)

(C) 5181 2R ARd (Kanha) @) D lella 212 Qxd (Pillibhit)
AN VA ¢ 24221 g1t (A2 wRAL AL (World heritage week) God €9 ?

(A) UNICEF (B) World Bank

@unesco (D) WHO

SLAHL “adtly [(RaR” (Cyclone Nivar) A 51281 sl A%UL/5% WA Ue A gsuit 2dd € ?
(A) Ba, enw 21 dua @ [Rarug 2 WA

(C) dlMarug 244 5e (D) WlAL 24 324
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091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

A0 V4 su1 cudla stdsHA <4841 S Al Al 2020 (48th Internationa Emmy award
2020)” HAA 9 ?

(A) '{1'10\;%33-{ L Gaisi (Ninguem Ta Othando)
@2l 5154 (Delhi Crime)

(C) $1R HIR 2&@2{ Wl (Four more shots please)
(D) ‘43 S+ &a-’ (Made in Heaven)

NN

A1 WA S1ami 56 e gIRL 21U AL 860 “AllAS MURAT UAH YU Hesi8IA HRldd
Afadour” oiruda 8 ?

(A) IIT 51142 — IIT Kanpur (B) IIT 4% — IIT Madras

(O) IIT “RAYR — IIT Kharagpur .IIT (8¢l — IIT Delni

D WAL s 28l o 350 (John Kerry) A Yol axuri saraie dls adlvl [Rysd s3a 8 ?
(A) A3 (New Zealand) (B) A (China)

@152 22 215 uiRsL (USA) (D) 54 (France)

g2 ay “dles 37 (Milk Day) st [2ad Goeuu 9 ?

(A) 24 QR (B) 25 4R

@26 a2 (D) 27 AR

A 202041 “OdloR $AR S35 (Global Hunger Index - 2020)" 4otL ¢Id 82l $4L 2 8 ?
@+ (B) 95
(C) 96 (D) 97

53{los lsund) (Cambridge Dictionary) 121 “as 24ls Hl $u2 2020 (Word of the year 2020)” <3
$UL AGEA HIRLAL A €9 ?

(A) u=34l$ (Pandemic) .SCLTQ"lal%S"l (Quarantine)

(C) 51dl3-19 (Covid-19) (D) Al 318 (Lock down)

w1l $ARA- GualdL $30A (Use of plastic waste) 541 ASHI el [AMlRL A3 sc0Hi »uda €9 ?
(A) Soy3 [ CERIE

(C) siast (D) il

%4 “UHL (Jungle Nama) Yelswll Quis 51 €9 ?

@) wa Bl (Amitav Ghosh) (B) 219l 432 (Shashi Tharoor)

© ?)Q'&lcﬂ A4 (Arundhati Roy) (D) Adr M2d (Chetan Bhagat)

ay 20204 Hia [Asa Y¥Asls (Human Development Index)Hi GHIRd 5L AL Bu &9 ?
(A) 128 @29

(C) 130 (D) 131

HIG-2 AH3 (Mount Semeru) FUAHV 52U SARL 20AQ €9 ?

(A) At @S i

(C) Al (D) Al
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101. Which one of the following does not belong to the direct operating cost of a mine

.Administrative cost (B) Royalty
(C) Fuel cost (D) Explosive cost
102. Rationalization can be done in several fields by
(A) Technical (B) Organization
(C) Finance & Social .All of the above
103. Scalar organizations also known as-
.Line organization (B) Functional organization
(C) Line & Staff organization (D) None of the above
104. Discounted cash flow techniques, include-
(A) Net Present Value (NPV) (B) Internal Rate of Return (IRR)
(C) Profitability Index (PI) .All of the above

105. Setting standards, checking and reposting on performance and taking corrective action are
essential steps in

(A) planning .Controlling Procedure
(C) Standardization (D) Scientific Management
106. One, which is not duty of personnel officer-
(A) Labor supply (B) Training
.Work study (D) Welfare
107. Employments test which is to ascertain their hidden talents or suction by
.Psychological (B) Aptitude
(C) Trade (D) Medical
108. Reference check in method of selection is related to
(A) Boundary Check .Past employment history
(C) Training record (D) Past Experience

109. The code for the lowest category of mienral resources under United Nations Framework
Classification (UNFC) system is

(A) 444 (B) 123
@34 (D) 111

110. Off the job training is given by
(A) Job Enlargement .Case study Method
(C) MBO method (D) T.W.I scheme

111. Prior planning includes-
.Fore-Casting (B) Process Planning
(C) Material Control (D) Tool Control

112. Process reporting and corrective actions are part of-
(A) Planning phase (B) Action phase
.Central phase (D) All phase

113. Following are the types of audit in personnel department.
(A) Audit of managerial compliance (B) Audit of employee satisfaction
(C) Audit of Corporate strategy .All of the above
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114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

125.

Each sub-ordinate should have only one superiors and dual sub-ordination should be avoided
this is the principle of

(A) Co-ordination (B) Authority

(C) Span of control .unity of command
What is the major issue faced while doing personal planning?
.Type of information which should be used in making forecasts
(B) Types of people to be hired

(C) Multiple positions to be filled

(D) All of the above

Partners who do not invest money and do not take part in the management, but they lend their
reputed name for the company’s reputation are known as

(A) Secret partner (B) Sleeping partner
(C) Silent partner .Nominal Partner
In public limited company, the maximum number is limited to-
(A) 50 (B) 100

(C) 200 @ o Limit

F.W. Taylor introduced first time Taylor’s organization. This name is given for
organization

(A) line .Functional
(C) Line and Staff (D) Line, staff and Functional
Psychometric abilities can be determined by
.Aptitude test (B) Trade Test
(C) Psychological Test (D) Medical Test
The ‘yellow boy’ formed due to acid mine drainage mainly consists of
(A) Ferrous hydroxide (B) Ferrous sulfate
.Ferric hydroxide (D) Ferric sulfate
A production programme based on optimum productive capacity and sales forecast is called-
(A) Product programming (B) Product fore cast
.Product Mix (D) Product sale
is a supplementary training method usually combined with lecture or the conference
.Role playing (B) Business Games
(C) on the job (D) T.W.I scheme

Procedure involves filling the position needed in the origination structure by appointing competent
and qualified persons for the job

(A) Recruitment (B) Selection

(C) Placement .Stafﬁng

The team which is not essentials of sound motivation system

(A) Good Wages .More Working

(C) Human relations (D) Job Satisfaction

Three elements - Individual, workgroups & Participative Management are the

(A) Modern Management Theories .New Classical Theory

(C) scientific Management (D) Operational Approach to management
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126.

127.

128.

129.

130.

131.

132.

133.

134.

The difference between comprehensive EIA and rapid EIA is in the
.Time scale of the data supplied

(B) Rapid EIA is for slower appraisal process

(C) Comprehensive EIA is through collection of one season data only
(D) None of the above

Which of the following is not a water borne disease?

(A) Dysentery (B) Cholera

(C) Typhiod .Maleria

The maximum permissible limit for fluoride in drink water is (As per Indian Standard for drink
water)

(A) 0.1 mg/liter @ 1.5 mgiiter
(C) 5.0 mg/liter (D) 10 mg/liter
In EIA documentation and process stages, which of the following sequence is in proper order

(A) Scoping-Project screening-Alternative consideration-Baseline establishment-Impact
identification

(B) Scoping-Project screening-Alternative consideration-Impact identification-Baseline
establishment

.Project screening-Scoping-Alternative consideration-Baseline establishment-Impact
identification

(D) Scoping-Baseline establishment-Project screening-Alternative consideration-Impact
identification

As per National Ambient Air Quality Standards, suggested method for measurement of Particulate
matter is/are

(A) Gravimetric (B) TOEM

(C) Beta attenuation .All of the above
Which of the following are the main factors responsible for Blast induced ground vibrations?
(A) Physio-Mechanical properties of Rock to be blasted

(B) Characteristics of explosives to be used

.Measure and shape of free face

(D) All above

Distance between is called burden.

(A) Two consecutive blast holes in same row

(B) Distance between two consecutive rows

.Edge of the bench to First row of the blast holes

(D) None of the above

Performance of the blast is calculated using ?

(A) Tonnage factor (B) Space factor
(C) Swelling factor .Powder factor
Safe length of safety fuse at the firing end shall be minimum
@2 Mme (B) 2.0 Mtr

(C) 1.8 Mtr (D) 1.5 Mtr
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135.

136.

137.

138.

139.

140.

141.

142.

143.

The rate at which the detonation wave passes through the column of explosive is called ?

(A) Density (B) Strength

(C) Sensitivity @ oo

The blasting technique used for controlled throw of overburden is known as

.cast blasting (B) coyote blasting

(C) Mass Blasting (D) Secondary Blasting

Normally in Indian metal Mines cut is used for roadways driving

.Burn Cut (B) Fan cut

(C) Wedge Cut (D) Pyramid Cut

According to Vertical Crater Retreat theory of blasting, charging length is times the

diameter of hole
(A) 3 @5
)8 (D) None of the above

In a drift of 2.4 m x 3.0 m size, the pull obtained per blast is 1.8 m. The total explosives consumed
per blast is 36.0 kg. If the tonnage factor is 0.36 m’/tonne, the powder factor is-

(A) 0.5 kg/te @ 1.0 kgte

(C) 2.0 kg/te (D) None of the above

An explosive is called cap sensitive when

(A) It can be ignited by safety fuse .It can be initiated with detonator
(C) It needs primer to be initiated (D) It is ignited by acoustic waves

Which of the following is correct formula for calculating burden?
Where B=Burden in Met and D=hole diameter in mm

.B=0.024D+0.85 (B) B=0.034D+0.85
(C) B=0.024D+0.95 (D) B=0.034D+0.95
According to regulation danger zone is an area falling a radius of
(A) 500 M (B) 200 M
(C) 100 M @:oom

For the electric delay detonator shown in the figure, the components P, Q and R, respectively,
are

Base charge

.Fuse head, Delay element, Priming Charge
(B) Fuse head, Priming charge, Delay element
(C) Priming charge, Delay element, Fuse head
(D) Delay element, Fuse head, Priming charge
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144. Sleeping holes are called for
(A) Holes which are near to horizontal (B) Holes which are left uncharged for night
.Holes which are left charged for night (D) Holes which are filled back after drilling

145. In surface mines blasting, which of the following is used to control fly rocks

(A) Coyote Blasting (B) Solid Blasting

(C) Electrical Blasting .Mufﬂed blasting
146. Air-deck method is used for-

(A) Deck loading (B) Air decking

(C) Detonating . Priming

147. Emulsion explosive is have the following ingredients
(A) Ammonium nitrate, TNT, NG
(B) Ammonium nitrate, TNT, Guar gum
(C) Ammonium nitrate, NG, Water
.Ammonium nitrate, water, hallow micro-ballons

148. Which of the following is mainly responsible for fracture in rock during blasting?
.Compressive and tensile waves (B) Compressive, tensile and shear waves
(C) Compressive and shear waves (D) Only Compressive waves

149. Which of the following is not used for reducing dust generation during drilling?
(A) Adequate percussion and rotary speed (B) New or Sharp bit
(C) Adequate flushing .Correct collaring

150. In Ammonium Nitrate diesel oil is mixed for
(A) To maintain Energy Balance (B) To maintain Blast Balance
.To maintain Oxygen Balance (D) To maintain Density Balance

151. In seismic observation of blast body waves and surface waves are forms. Which one of the
followings is not considered as surface waves

.Secondary wave or S wave (B) Rayleigh or R wave
(C) Love or Q wave (D) None of the above
152. Now a days the most common delay used in small open cast mines are of ms
(A) 20, 30, 40 B)9, 18,27
@17, 25 2 (D) 15, 30, 45
153. As per DGMS ground vibration due to blasting should be less than (frequency 8-25 Hz)
(A) 5 mm/sec .10 mmy/sec
(C) 2 mm/sec (D) 15 mm/sec
154. Which of the following drilling patterns not come under angled cut category?
(A) Wedge cut (B) Pyramid cut
.Burn cut (D) Fan cut
155. The oxidizing agent found in black powder is:
.Potassium nitrate (B) Sulfur
(C) Charcoal (D) Nitrocellulose
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

Low explosives decompose at rates that vary up to

(A) 1,000 miles per hour (B) 1,000 meters/sec

@) 1.000 meters/nr (D) 7,000 miles/hr

Creation of a supersonic shock wave as a result of an explosion is referred to as

(A) combustion (B) Deflagration

.Detonation (D) flash over

In recent years, dynamite has been replaced commercially by

(A) PETN (B) Nitroglycerin

(C) TATP .Ammonium nitrate-based explosives

A 50-percent straight dynamite contains

(A) 5 percent of nitroglycerin .50 percent of nitroglycerin

(C) 5 percent of trinitrotoluene (TNT) (D) 50 percent of trinitrotoluene (TNT)

Full name of PETN used in detonator is

.Pentaerythritol Tetra Nitrate (B) Pentaerythritol Tri Nitrate

(C) Pentaerythritol Thio Nitrate (D) Pentaethyl Tetra Nitrate

The amount of energy released by an explosive on detonation is referred as

(A) Strength (B) Power

(C) Ability to do work .All of above

Which of the following has the poorest water resistivity

(A) Open Cast Gelatin (B) Nitroglycerin

.Ammonium Nitrate Fuel Oil (D) Dynamites

Detonators are manufactured in two strengths: No. 6 and No. 8. They contain g and
g of PETN respectively.

(A) 0.22 and 0.44 @o.22 and 0.45

(C) 0.23 and 0.44 (D) 0.23 and 0.45

Usually ordinary delay detonators are numbered from 0 to 10 or 0 to 12 with second

interval between each successive number

(A) 0.1 (B) 0.2

@ (D) 0.4

Maximum quantity of explosive permitted for transportation by specially designed road vehicle

is

@300 kg (B) 4500 Kg

(C) 22650 Kg (D) 10000 kg

Central Government allowed the women in any mine below ground from the provisions of section
46 of the Mines Act, 1952 amendment. As per this minimum how many women should deployed
in underground

(A) Minimum 2 .Minimum 3

(C) Minimum 5 (D) None of the above

Drinking water place shall not be situated within meters of any washing place, urinal
or latrine unless a shorter distances is approved in writing by chef inspector.

@six (B) Ten

(C) Twelve (D) Fifteen
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168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

No adult employed above ground in a mine shall be required or allowed to work for more than

forty eight hours in any week or for more than hours in any day.
()8 @
©) 10 (D) 11

By which act number, the central Govt, may by notification in the official Gazette make regulations
consistent with this Act for all purpose.

(A) 50 (B) 55

@- (D) 59

According to mine rule no 29B (b) every person employed in a mine shall undergo a medical
examination within interval

(A) 2 Years (B) 3 Years
(C) 4 Years .5 Years

An overman’s or Forman’s certificate granted under the Act (29 Q)(b) how much experience in
mine including at least two years in working of the mines for which he is nominated.

(A) 3 Years (B) 4 Years

.5 Years (D) 7 Years

At every mine employing more than person on any one day of the preceding year, there
shall be provided and maintained in good order a suitable first-aid from.

(A) 100 @150

(C) 200 (D) 500

Safety committee constituted as per rule 29T of Mines Rules 1955 say acts as secretary
.Safety officer (B) Ventilation officer

(C) Manager (D) Blaster

Below shown symbol is for -

(A) Shaft (B) Boundary pillar

.Abandoned shaft (D) None of the above

At what production a first class manger’s certificate holder is essential for an open cast mines.
(A) In excess of 2500 cubic m/month (B) In excess of 2500 tones/month

(C) In excess of 20,000 tones/month .In excess of 20,000 cubic m/month

How much long scale, suitably subdivided should be drawn on every plan or section by 64(c)?
(A) At least 10 cm .At least 25 cm

(C) At least 30 cm (D) At least 50 cm

The slope of a spoil bank shall be determined by the natural angle of repose of the material
being deposited but, in any case, shall not exceed Degrees from horizontal.

(A) 30° @:75

(C) 40° (D) 50°
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178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

No case or container containing explosive shall be left or kept in a mine except in a place appointed
by a manager for the purpose and legibly marked as.

(A) EXPLOSIVE STATION (B) DANGER STATION

(C) UNSAFE STATION @)RESERVE STATION

After firing the shots electrically no person shall re-enter or be permitted to be re-enter the
place until minutes after the source of electricity has been disconnected from the cables.
@0 (B) 15

©20 (D) 30

m is a convention for

(A) Drift in black (B) Drift in Burnt sienna

.Underground coal barrier in Green (D) Underground coal barrier in black

Under MVTC 1966, Rule no. 4, that disputes regarding training in mines to be decided by
.Chief Inspector of mines (B) Regional Inspector of Mines

(C) Inspector of Mines (D) None of the above

Rule of CMR 2017 says that the place of accident is not to be disturbed whenever an
accident in or about a mine causing life loss.

(A) 250 (1) (B) 250 (3)

@:1 ) (D) 251 (2)

The manager of a bellow ground mine where more than 500 persons are ordinarily employed
below ground shall also ensure the persons and scale of Man/men for every 100 persons
or part thereof are rescue trained persons.

.One (B) Two

(C) Four (D) Five

What is the age of person who can be trained for rescue work?

(A) Between 20 and 30 Years .Between 21 and 30 Years

(C) Between 20 and 40 Years (D) Between 21 and 40 Years

How many persons are there in any rescue team using breathing apparatus in a mine including
the leader?

(A)3to4 B)4to5

@s o6 (D) 6 to 7

Universal testing is a

.Ancillary equipment (B) Cast testing device
(C) Resuscitating apparatus (D) Table apparatus

How much practical training on actual operation is essential before employing a person below
ground in a mine?

(A) Not less than 6 working days .Not less than 12 Working days
(C) Not less than 18 working days (D) Not less than 24 working days

Wherever a person returns to employment in opencast working after an absence from work for
a period exceeding one year he shall, within one month it of his joining duty undergo refresher

training in Fourth schedule which shall include a minimum of Safety lectures and
demonstration.

.Three (B) Six

(C) Nine (D) None of the above
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189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Fourth schedule of MVTR 1966 is training
(A) For workers fellow ground (B) Timber mistry

(C) on short firing .Course for refresher

No person shall function as trainer unless be has attended not less than Lecture on
safety in mines, as may be specified for the purpose and approved by the chef inspector.
@six (B) Ten

(C) Twelve (D) Eighteen

How many days course of training on shot firing W.R.T seventh schedule.

(A) 3 Days (B) 6 Days

(C) 9 Days @12 pays

Which of the following is not a bipartite body?

(A) Works Committee (B) Canteen Committee

(C) Safety Committee .Standing Labour Committee

Find the correct in the following statements.
(A) Chasnala Disaster - 1965 (B) Dhanbad coal mine Disaster - 1954
(C) Newton chikli colliery Disaster - 1975 .Rajpura Dariba mine VRM Disaster - 1994

is an ISO standard for management systems of occupational health and safety (OH&S),
published in March 2018

.ISO 45001 (B) ISO 55001

(C) ISO 95001 (D) None of the above

On which date Annual returns of mine, manager shall submit to Govt. every year.
(A) On or before 1st Day of January .On or before 1st Day of February
(C) On or before 1st Day of April (D) On or before 1 st Day of Sept

No person shall be admitted as a candidate at any examination held by the Board (CMR) (14( 1))
unless he is Years of age.

(A)20 (B) 21

(C) 22 @::

Which to the rule number in CMR 2017 for storage of explosives

(A) 183 @ 154

(C) 185 (D) 186

According to CEAR 2010, fire extinguishers shall be tested for satisfactory operation as per
relevant Indian Standard at least and record of such tests shall be maintained.
.Yearly (B) Bi Yearly

(C) Twice in a year (D) Tri Yearly

CEAR 2010 demands that owner of every installation of voltage exceeding shall affix
permanently in a conspicuous position a danger notice as per IS -2551.

(A) 3300V (B) 650 V

(C) 440 V @250 v

Any consumer not satisfied with the action of supplier can appeal to

.Electrical Inspector (B) Electrical Agent

(C) Electrical Grievance Engineer (D) Electrical Appellant
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201.

202.

203.

204.

205.

206.

207.

208.

209.

210.

211.

212.

The distinction between rock and soil is

(A) In the degree of grain size .In the degree of consolidation
(C) In the nature of availability (D) In the degree of strength

If the body of the rock is and it can be considered as a continuous medium.
(A) Anisotropic, hollohylene .Isotropic, homogeneous

(C) Isotropic, Cemented (D) Isotropic, structured

The reverse fault is usually caused by

(A) Vertical loads .Horizontal thrust

(C) Both vertical and horizontal thrust (D) None of the above

A geometric solution for strains in any direction is provided by:

(A) Stress Strain curve (B) Strain displacement relation
(C) Strain Rosettes .Mohr’s circle of Strain

“Strain in the direction of the stress is directly proportional to the applied stress.” This is known
as

(A) Mohr’s law (B) Coulamb’s law

(O) Griffith’s law .Hooke’s law

A transducer for converting small displacement into changes in electrical current is called as
(A) Strain indicator .LVDT

(C) Electrical strain gauge (D) Displacement gauge

The edges of the coal pillar are damaged due to

(A) Compressive Force (B) Tension Force

.Shear Force (D) Torsion Force

On which of the following uni-axial compressive strength doesn’t depend
(A) Specimen Shape, Size and Moisture content

(B) Rate of Loading

(C) Smoothness of bearing plate

.Grain size of the Specimen rock

is the negative of the ratio of transverse strain to lateral or axial strain.

(A) Modulus of Elasticity .Poisson’s ratio

(C) Creep Ratio (D) Deformation Constant

Bonded and Un-bonded stain gages are types of electrical strain gages.

(A) Capacitor (B) Inductance

(C) Transistor .Resistance

Which of the following are the causes of “Slope failure”

(A) Geological structure, texture (B) Anomalies like dykes, faults, folds Etc.
(C) Dynamic Loading. .All of above

Pit slope is the angle made by the imaginary line joining the -
.Top most crest of the bench to bottom most toe of the bench
(B)Top most toe of the bench to the bottom most toe of the bench
(C)Top most crest of the bench to bottom most crest of the bench
(D) Average of the all bench angles
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213.

214.

215.

216.

217.

218.

219.

220.

221.

222.

223.

224.

If the depth of pit reaches meters the scientific study on slope stability will bedone by
scientific agency.

@oom (B) 75 m

(C) 50 m (D) 100 m

Which regulation of CMR 2017 demands for a scientific study and its implementation before
the start of mine for the slope stability

(A) 114 @ 106

(O) 115 (D) 105

Accordiing to CMR 2017 the slope of a spoil bank shall be determined by the natural angle of
repose of the material being deposited but, in any case, shall not exceed degrees from
the horizontal.

(A) 40.5 (B) 33.5

@:75 (D) 35.5

In India acceptable FoS is near to for highwall coal mining with continuous slope

monitoring for few benches or inter-ramp section.

@0 (B) 1.3

©) 1.6 D) 1.9

Rocks with Protodyakonov index ‘f” of 4 - 6 are

(A) Difficult to cave (B) Cannot Cave
.Easily cavable (D) Moderately Cavable
Angle of Fracture is usually is angle of draw

(A) Equal to (B) Greater Than
.Less Than (D) All of the above
According to the Moh’s scale, which of the following is harder than quartz?
(A) Calcite .Orthoclase

(C) Apatite (D) Topaz

Elasticity of material is increased if the young’s modulus is

(A) Decreased .Increased

(C) Remain Constant for some time (D) Increased abruptly

Barton classified the rock mass on the basis of
(A) RMR (B) Q-System
(C) Slake Durability @rop

During Brazilian test of a cylindrical rock core of 54 mm diameter and 22 mm thickness, failure
occurred at a diametrical loading of 11. The tensile strength of rock in MPa will be

@24 (B) 2.49

(©) 3.05 (D) 6.10

In a point load test on 50 mm dia core specimen, rupture was observed at a load of 5000 kg. The
point load strength of the specimen was kg/cm?

(A) 300 (B) 200

@00 (D) 500

For a typical hard rock with E = 10° MPa and Poisson’s ratio = 0.25, the modulus of rigidity in
GPa is

@0 (B) 80

(C) 66.67 (D) 133.33
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225.

226.

227.

228.

229.

230.

231.

232.

233.

234.

23S.

Flat jack instrument is used to measure the

(A) In situ stress in rock .Load

(C) Bed separation resistance (D) Roof convergence
The ratio of specific weight of an intact rock to that of loose rock is
(A) Fill factor (B) Loose density

(C) Swell factor .Compaction factor

If the specimen of different lengths are there, then the values can be adjusted for D/L ratio of 1
by the suggested by ASTM, the fomula is

oult oult

& 50000 B) 70.778-0.222(D/ L)}
oult oult

© 70778+ 0.222(L/ D)) D) 70.778—0.222(L/ D))

The specific gravity of gypsum mineral is 2.4. If the density of a gypsum core is 2100 kb/m?. The
porosity of the core is

(A) 0.062 @o.125

(©) 0.5 (D) 0.875

Maximum economic depth by Diamond Drilling is

(A) 250-300 M (B) 600-800 M

@ 100-3000 m (D) Up to 200 M
Deviation of Vertical or Inclined boreholes is usually

(A) 1° per 30 M length (B) 2° per 30 M length
@)3° per 30 M length (D) 4° per 30 M length
If the point load strength index of a rock is 5, then the compressive strength of the rock will be:
@20 (B) 50

(©) 40 (D) 100

What is economical stripping ratio (Thickness of OB : Thickness of Mineral) of the deposit
suitable for bucket wheel excavator

A)2:1 @:04:1

©Oe6:1 MD)8:1

Which of the following has normally a travelling speed of 0.18 - 0.6 KM / Hour
.Crawler Mounted Dragline (B) Walking Dragline

(C) Pull Shovel/Back hoe (D) Hydraulic Shovel

As par norms the distance between two outlets to surface for a mine should be at least
@ism (B)17.5M

O21.0M D)25.0 M

What is the radius of shaft pillar by Foster’s rule, if depth of shaft is 500 M and thickness of
seam is 5 M

(A)S0 M (B)75M
(C) 100 M @150 m
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236.

237.

238.

239.

240.

241.

242.

243.

244.

245.

246.

The coal bumps in a deep mine may occur when

(A) The rock is fragile

(B) Large volume of the rock is exposed to high stress
(C) The rock is weak

.High strain energy concentration in coal pillars

Which of the following equipment’s is most suitable for overcasting the week overburden having
small thickness or well blasted material

.Drag Scrappers (B) Single bucket Excavators
(C) Multi-bucket excavators (D) Bucket chain dredger

In channel sampling the channel width usually vary from

(A) 10 to 20 mm (B) 20 to 30 mm

@0 t0 100 mm (D) 40 to 100 cm

Dosco Dintheader is a machine designed to operate
.Electro-hydraulically (B) Electrically

(C) Electronically (D) Mechanically

Suggest a suitable pillar extraction method when the roof is strong and it doesn’t break in time
with the diagonal line of extraction.

(A) Straight Line of Extraction (B) Diagonal Line of Extraction
.Step Diagonal Line of Extraction (D) Steep Diagonal Line of Extraction
Flitting speed of AB Short wall cutter is

(A) 3.403 M/Min @ o.144 M/Min

(C) 6.142 M/Min (D) 13.425 M/Min

Working in a seam 1.5 - 2.0 M thick with continuous miner (3.3 M cutter drum) and shuttle cars,
room and pillar and short wall mining system, the possible production is nearly

(A) 200T/shift (B) 400T/shift
(C) 600T/shift @) s001/snift

In a surface mine burden = 4.0 m, spacing = 6.0 m and depth of hole is 10.0 m. How much tonnes
of material will be produced by blasting one hole when the density of mineral is 2.5 gm/cc.

(A) 6000 Kg (B) 60000 Kg

.600 tonnes (D) 6000 tonnes

Which of the following is not an intermittent discharge type excavator

(A) Power Shovel (B) Drag Line

.Bucket wheel excavator (D) All of the above

Which type of bit is not used with rotary drilling

(A) Drag Bits @ sutton Bit

(C) Both (A) and (B) (D) None of the above

Bucket wheel excavators can be applied in the strata of MPa compressive strength

without pre blasting

@0 (B) 15

(€) 20 (D) 25
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247.

248.

249.

250.

251.

252.

253.

254.

255.

256.

257.

Taking 50% utilization a 3000 SM can produce million m® of coal per year

(A) 10 ®:
(OK D)8
In an open pit mine the market price of fresh copper ia ¥ 1000 per tonne. The cost of mining is

reported is ¥ 250 pet tonne, The cost of removal of waste rock is ¥ 80 per tonne of waste, what
will be the stripping ratio

(A) 3.68 @o3s

©) 20 (D) None of the above

The most economic transportation means in coal seams in a gradient of 1 in 3 is
(A) Shuttle car (B) Rope Haulage

.Belt Conveyor (D) Loco Haulage

A surface Miner can discharge

(A) In dump trucks (B) On to the belt conveyor

(C) On to the ground by side casting .Any of the above

In underground mines, the lighting system shall have a mid or neutral point connected with
earth and the voltage shall not exceed between phases;

@25V (B) 220 V

©) 440V (D) 540V

In opencast coal mine blasting spacing varies from 3 to 8 M whereas burden is selected about
times the spacing

(A) 0.6 @os

O 1.2 D) 1.4

What is the rippability of coal by D & R Ripper

(A) 1000 seismic velocity m/s (B) 1500 seismic velocity m/s
.1900 seismic velocity m/s (D) 2800 seismic velocity m/s

While depillaring a seam of 2.5 — 3.0 M thickness and 20 M X 20 M size, the pillar can be splited
in to

(A) One Stook .Two Stooks

(C) Four Stooks (D) Eight Stooks

What is the % gradient of the floor for box cut, if truck transport is used against load?

(A) 2-2.5 (B) 2.54

@10 (D) 25-33

If a shaft carries guide ropes and loaded with cheese weights at the bottom end then the shafts
are sunk M deeper than the pit bottom decking level.

(A) 2.0-3.0 M @+560Mm

(©)8.0-10.0 M M>12M

The length (L) of the pipe range through which sand & water slurry can be transported depends
mainly upon the vertical head between mixing chamber and the point at which slurry is discharged

(H). Generally this ratio is for reasonable good stowing rate
(A) 1/3 @7
o m (D) 1/14
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258.

259.

260.

261.

262.

263.

264.

265.

266.

267.

268.

What is the maximum permissible percentage of Carbon Di Oxide in return air of long wall face

@ (B) 1.0

O 15 D) 2.0

How many ploughs are in Dosco Miner ripper type continuous miner?

(A) One (B) Two

@ rhree (D) No Plough

What is the maximum gradient of road in quarries for tyred vehicular traffic

(A)1in7 @1 in10

(C)1in15 D) 1in20

Haul road conditions must be such that at all corners and bends on road there must be a clear
sight for a distance not less than times the braking distance with respect to HEMM
speeding.

(A) Two (B) Five

(C) Four .Three

What capacity of dumper must be provided in combination with a shovel of 8-10 m® capacity?
@201 (B)200 T

Os50T MD)80T

In a year how much material can be handled by a drag line of 7.5 m® bucket capacity considering
12-14 working hours per day

@ o.75 miltion m* (B) 0.25 million m?
(C) 1.25 million m? (D) 2.25 million m?
What fill factor is considered for a shovel of 4.2 m* bucket capacity
(A)55% (B) 65%

@02 (D) 75%

What is the volume of the open trench when Length of trench = 50 M and Width of Trench = 10
M Slope of the side of the trench = 70° from horizontal

(A) 17737 m® (B) 10897 m®

(C) 4582 m? @ss20 m

Which of the following method can be used for u/g curve setting

(A) By successive bisection of arcs (B) By offsets from the tangents
.By chord and offsets (D) By Rankine’s method

What is the use of Template?

(A) In curve setting .In track laying

(C) In slope measurement (D) In vertical measurement

A nautical mile is equal to the distance on arc of the great circle corresponding to angle of 1
minute subtended by the arc of the centre of the earth. (Radius of the Earth = 6370 Km) What is
the value of 1 nautical mile in Km?

@552 Kkm (B) 17.694 Km
(C) 0.2949 Km (D) 0.926 Km
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269.

270.

271.

272.

273.

274.

275.

276.

2717.

278.

279.

What is base angles value in well-conditioned triangle?

(A) 54° 00° @560 14

(C) 60° 00° (D) 52° 14’
Dual scale is used in preparing

(A) Mine Plans .Sections
(C) Tridimensional Drawing (D) Contouring

A pump with 51 M head, Discharge 140 Lit/Sec is working on 70% efficiency. What would be
energy consumption to run it for 3000 hours?

.300000 KW (B) 306000 KW

(C) 3060 KW (D) 3000 KW

What is meaning of 29.5 R 29 written on a dumper tyre?

(A) Radial tyre having width 29.5 ¢m and a rim dia of 29 cm.
.Radial tyre having width 29.5 inches and a rim dia of 29 inches.
(C) Radial tyre having rim Dia 29.5 inches and width of 29 inches.
(D) Radial tyre having rim Dia 29.5 cm and width of 29 cm.

A turbine pump falls in the category of

(A) Reciprocating (B) Rotary

.Rotodynamic (D) Liquid Impellent

Mostly the impellers in the pump are made of

(A) Cast Iron (B) Steel

(C) Ni — Steel .Bronze

Which of the following pumps is best to deal with the gritty water at mine faces:
.Drill Pumps (B) Turbine Pumps

(C) Reciprocating Pumps (D) Air Lift Pumps

A turbine pump of 6-8 stages of 75 HP and head 250 M is installed at a depth of 350 M. What
quantity will be discharged by the pump?

(A) 50 m¥hour .150 m’/hour

(C) 200 m*/hour (D) 500 m*/hour

Endless rope haulage is most suited in level headings when the roadway is M long or
more.

@100 (B) 200

(C) 500 (D) 1000

What should be the pit slope angle in a mine having rocks of 3 — 7 Protodykanov strength index
and depth is < 90 M?

(A) 36-37 (B) 39-45

(C) 41-48 @+5-50

If scale of a map is 1 cm = 5 KM then what will be the representative fraction (RF)
(A)1in 500 (B) 1in 5000

.1 in 500000 (D) 1 in 50000
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280.

281.

282.

283.

284.

28S.

286.

287.

288.

289.

290.

1
The circle of a theodolite is divided into degrees and 4 of a degree. Designing of a decimal

vernier to read up to 0.005 degree will require

(A) 99 primary divisions from main scale and division of this in to 100 parts of the vernier
(B) 100 primary divisions from main scale and division of this in to 101 parts of the vernier
(C) 50 primary divisions from main scale and division of this in to 49 parts of the vernier
.49 primary divisions from main scale and division of this in to 50 parts of the vernier

The Colby apparatus consist of two bars each 10 feet long. These bars are

(A) One of steel and other of Nickel .One of steel and other of Brass

(C) One of Copper and other of Bronze (D) One of steel and other of Cadmium

Bearing of line AB is 27° and angle CBA 50°, What is the bearing of line CB?

@:3 (B) 77°

(©) 157° (D) 257°

Which method of leveling is known as Direct Levelling?

(A) Barometric Levelling (B) Trigonometric Levelling

.Sprit Levelling (D) Tachometric Levelling

Mostly the DTH for drilling a hole of 100 mm — 125 mm dia consumes m’/min air at
7 KgF/em?

(A)3.2 (B) 4.0

@: (D) 7.5

Power is supplied to Bucket Wheel Excavator at AC voltage up to through motors
operating at 3300 V and 500 V.

(A) 330 KV (B) 110 KV

@2 xv (D) 11 KV

Which of the following is not a subsidence theory

(A) Particulate Theory (B) Continuum Theory

(C) Trough Theory .Draw Theory

The dia, weight and length of a slurry cartridge commonly used in open cast mines for blasting is
@33 mm, 2.78 Kg and 400 mm (B) 93 mm, 2.78 Kg and 400 mm

(C) 83 mm, 3.78 Kg and 400 mm (D) 83 mm, 2.78 Kg and 300 mm

In open cast Mining with inclined holes it is claimed that 1° of inclination saves about %
of explosive energy

(A) 20 &

©) 30 (D) 25

Which of the following transportation system will be most suited for a maximum gradient of 30°
with moderate depths

(A) Road Transportation .Belt Conveyor Transportation
(C) Aerial Rope way (D) Any one

Capacity of Bucket Wheel Excavator is given terms of

(A) Cubic Met (B) Tonnes

@ itres (D) All of the above
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291.

292,

293.

294.

295.

296.

297.

298.

299.

300.

Which machine is suitable for Cleaning work around the pit, blending on stock piling digging
ditches and maintaining pit roads

.Scrapper (B) Bucket Chain Excavator with spreader
(C) Dozer with ripper (D) Front End Loader

Longer hauls and steeper grades present an opportunity for trolley assisted haulage which requires
a huge power source of about

(A) 1,200 KW @:2200 kw

(C) 3200 KW (D) 4200 KW

Energy shall not be transmitted into a mine at a voltage exceeding volts and shall not be
used therein at a voltage exceeding volts.

.11000 V, 6600 V (B) 33000 V, 11000 V

(C) 11000 V, 550 V (D) 6600 V, 550 V

To avoid electrical shock from exposed, charged conductive parts only at low voltages at or
below should be used as a substitute for or other precautions.
(A)20VACor50VDC (B)30VACor70VDC

(C)40 VAC or 100 V DC .50 VACor1200V DC

Electric dragline requires a power of KV

(A) 11000 KV @)oo kv

(O) 1100 KV (D) 2200 KV

In which type of shovel inventory cast is high and maintenance cost is low

(A) Diesel Shovel (B) Electric Shovel

.Hydraulic Shovel (D) All of the above

In a walking dragline electric power is supplied to AC synchronous motor which runs the
generators namely

.Hoist, Drag, Swing (B) Hoist, Drag, Propel
(C) Hoist, Swing, Propel (D) Hoist, Swing, Walk
Which two geometries are followed in BWE cutting

(A) Tandem and Terrace (B) Tandem and Diagonal
(C) Terrace and Line .Terrace and Dropping

Central wear on the dumper tyre is observed when

.Inﬂation is higher than required

(B) Inflation is lower than required

(C) Dual tyres are used with different inflation

(D) Inflation has no effect on wear

Detonator tube is made of

(A) Copper or Bronze (B) Aluminum or Bronze

.Copper or Aluminum (D) Copper, Aluminum or Bronze
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